ARNTEREFSREHZFHT - AOKER

FRE29F2 A RIBHE
ER29%F2H X H BE IZES
THH 5 5 % 2 X5 THHE 5 z H
BAAERARD 28,824 36,063 38,683 74,746 BARAERAO 28,803 36,029 38,658 74,687
SEAERAO 182 273 229 502 SNEAEFERAO 181 271 228 499
KENMmAL 29,006 36,336 38,912 75,248 KENHAQD 28,984 36,300 38,886 75,186
BAAERME - A OEETE (BT BAAFEREME- AOKETE (IBNE)
T2 BRE 0 5 % T A BRE JiEg B E-q (BEH) (BEH)
AGERT Hh I AREHET 1,130 1,458 1,446 2,904 B = b B 246 297 314 611 E%) TR 5 5 = B X5 THH 5 S =
A2 Hh 1 K 809 884 900 1,784 AR 127 159 175 334 wmE—TH 791 852 983 1,835 wW&E—TH 161 200 201 401
2K BT 7 $h 32§ AHET 7 196 190 225 415 = H 109 143 152 295 HE-TH 558 633 737 1,370 WUE=TH 0 0 0 0
BT B Hhig N 882 944 1,055 1,999 T TIITEn BF 67 79 94 173 WE=ZTH 272 317 353 670 WILE=TH 0 0 0 0
TR Hhig TR 1,054 1,226 1,394 2,620 N34 211 252 248 500 FEMTH 204 253 279 532 WILEMTE 0 0 0 0
=/ hig B/E 469 536 581 1,117 EIEFE 20 25 27 52 HWERTH 764 1,002 1,092 2,094 WILERTHB 79 120 113 233
K2R EHEL 198 216 270 486 FEFTHT 174 178 208 386 H&EATH 88 104 114 218 WILEARTHB 216 311 319 630
e 106 144 156 300 FrETHh I h#TET 131 151 151 302 HEETHE 201 248 280 528 WLEtETHE 442 672 669 1,341
TR Hhig iR 268 308 358 666 dt#rET 132 170 152 322 HESE—TH 35 43 44 87 WILE/\NTEB 0 0 0 0
AR HAR W 94 98 133 231 FalT 182 215 254 469 HEEZTH 250 327 333 660 BWILENTHE 12 13 18 31
KE 895 1,023 1,072 2,095 il 16 24 29 53 HEB=TH 8 9 9 18 BUE+THE 256 380 392 772
At 2 FE Hhisg dzE 474 514 537 1,051 fin B thig chET 36 32 39 71 HEBMTH 0 0 0 0 wea+—TH 227 338 344 682
0t B s B AR 161 184 190 374 BT 100 108 121 229 HEERLTH 307 365 399 764 WUE+=TH 0 0 0 0
i) ] 195 215 230 445 b 87 90 118 208 HEEARTH 175 202 246 448 WUE+=TH 63 85 79 164
F& Hhig Be 2,878 3,409 3,838 7,247 i 142 147 186 333 HESETHE 346 389 433 822 INET 1,456 2,119 2,135 4,254
HHE A Hhig HESR 1,798 2,117 2,333 4,450 AR sk ER—TH 51 51 70 121 HEEB/N\THE 380 472 514 986 =11 12,985 17,545 18,470 36,015
BRAE) & i AE)&—~mTH 785 952 1,043 1,995 BRE_TH 289 334 344 678 HEENLTH 297 310 355 665
PR &Rz &EE~ATH 1,477 2,253 2,293 4,546 ERR=TH 57 77 88 165 KZINE—TH 340 409 439 848
M B A Hhig MRS 2,297 3,336 3,387 6,723 il 59 54 66 120 KZNEZTH 100 122 128 250
HBEA Hhig HmES 2,294 3,359 3,441 6,800 Lz k 33 18 37 55 KENE=ZTH 345 421 476 897
LA Hhig wIlUE 1,456 2,119 2,135 4,254 it 40 47 50 97 KZEINEWMTH 0 0 0 0
=11 19,916 25,485 27,017 52,502 HN7E B BB Hh ik ING L 57 57 62 119 KZJINERTH 240 395 385 780
INRT 71 67 74 141 KENEBATH 543 770 784 1,554 (&FH)
AAATRHE - AOEEHF (I8 LSRET) %7 75 82 08 180 Az)&tTH 325 481 500 981 X5 A 5 #x i
I H 27 39 36 75 KZINE/NTH 368 606 624 1,230 mmEe—TH 166 192 208 400
1T I 4 AR X HE 5 = i HERE 97 101 110 211 KEINEATH 1 1 0 1 EmE&E=TH 140 146 165 311
& M et LiEE 188 248 288 536 FeE] W 111 135 152 287 MEE—TH 509 774 720 1,494 ENmEE=TH 142 146 172 318
FafaH 412 554 600 1,154 I 94 103 132 235 MEEZTH 125 202 195 397 EmEemTHE 117 132 148 280
J6 3 B #hisg FEE 410 562 578 1,140 i) 46 48 53 101 MWRE=TH 244 343 374 717 BEmEERTH 52 61 58 119
o Efhig BETE 662 868 902 1,770 IR Hhig B 32 36 39 75 MWREMTH 260 346 370 716 EmnE&E/RTH 166 180 205 385
HEF 53 53 79 132 BEKE& 62 64 77 141 MEERTH 270 390 401 791 mAmEaetTHE 157 171 200 371
= B | #o1] 137 177 186 363 IhEF 73 75 94 169 MEENRTH 368 526 536 1,062 EmEa/\TH 186 209 234 443
B 233 337 368 705 mpi 39 46 54 100 MWEREETH 294 461 460 921 EmEaenTE 186 211 234 445
bR 46 43 70 113 B4 36 40 45 85 MEE/NTH 227 294 331 625 mnEs+TH 180 207 217 424
tm1&E 54 73 92 165 = 37 40 48 88 m\EE—TH 287 313 328 641 EmxEe+—TH 252 294 293 587
tin2& 135 152 199 351 B/ 12 14 17 31 HWMEE-TH 372 546 549 1,095 EmE&sE+=TH 217 269 268 537
LRt ERthis L+IR3F 72 95 117 212 N 5 5 4 9 WEE=TH 362 569 602 1,171 Emxe+=TH 150 178 187 365
FR4TE 53 68 74 142 7/ 30 39 43 82 wBEAEMTH 298 438 472 910 Emxae+mTE 118 136 170 306
LIAsE 100 134 137 271 BTF 22 28 28 56 W\EERTE 375 598 610 1,208 Emxe+ETH 139 173 169 342
LIH6e&E 154 177 205 382 L 2 ITFF 16 17 21 38 BEBANTH 329 590 559 1,149 =1 2,368 2,705 2,928 5,633
tR7&E 67 84 84 168 * 10 13 11 24 WEEETE 271 305 321 626
L inraEbitig +in8&E 91 118 116 234 =% 9 7 9 16 HwmEE/\TH 0 0 0 0
EIHOFE 112 126 140 266 g /2 5 3 3 6 INET 11,529 15,426 16,335 31,761
EH10FE 90 97 122 219 N 13 11 15 26
WERXsN 29 28 32 60 it 31 39 46 85
= Re X 44 6 5 5 10 853 45 54 72 126
R4 72 60 78 138 FINTE & i EmnEs 2,368 2,705 2,928 5,633
aEt 3,176 4,059 4,472 8,531 =1l 5,732 6,519 7,194 13,713




